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= Step 1: Multiply the coefficients

* Step2: Add the exponents

PRODUCT RULE:

(Xa)(Xb) s Xa+b
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3. (4x?)-(3x°)

+(3)=14
Xa. X5= x_|

8. 2y -5y’ .3y’

9. (-2x ) (Y)(3XY)

17.|(4a’b*)(5ab’

+(a’b’)(-2a’b)
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Write an expression to represent the area of the
shaded region in simplest form.
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Classwork: HW #2 Monomial x Polynomial

Answers listed below in no particular order.
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5z -5z

20a° - %a
3 2

4a% + 3a = ey e

-12h?- 20h
3w? + 7w

4 3
7¢- 147+ 35¢ - 1ond + 502 19n

o= 2o = 10

28x% - 6x - 12

2y - 8y
2x?% - 5x
6nt - 6n° - 12n?
-3n° - 6n?
62 - 3x> + 8x
18b%+ 2b + 8

15%3 - 3x% + 12x

6m?+ 6m -3



